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Frx
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2L A 58.3 1,728 972 756 10| M2 L
LA 972 — 864 1 A M
IZALA 19.2 2,160 2,160 1,944 10 Va9 M
IZALA 1,188 — 1,080 10 L
ZIES5 4.4 — 2,484 — 0] A L
[E<ELY 13.7 3,780 3,564 1,728 15 A 6
HTE 25 1,944 1,620 864 4f A M
ZEDiE 15 B [E 1,296 1,080 648 4 A L
TRy 80.5 B E 1,415 918 918 10] vay 8
IE5NAZES 2.1 = I 216 - 194 02 A LL
hE 55 K & 1,512 — 1,404 3l vay M
_hE 2.3 = B 3,240 2,592 2592 3 L
125 2.7 =0 4,320 4320 4,050 5] vay
L) — 0.7 E % - 4752 — 10 A LL
FRINGHR 1.3 E X - 103 — 0.1 vay M
LAR 33.1 E % 2,160 1,944 1,458 10 A LL
LAR dtiEE - 2,592 — 4 A
FoTHA 1.1 BRE 2,160 — 1,728 4f A L
=Y 22.2 BERE 2,160 — 1,944 5] A M
=p5Y =0 2,376 2,160 1,728 5] B M
ANESSES) 11.0 E X - 1,620 — 10 vay 8
A 8.2 BRE - 135 — 03] A L
Al =I5 2,376 2,268 2,160 5] A L
k2 41.0 EES 1512 1,296 1,188 AIED) L
k< X & 2,160 1,728 1,620 4 A 24
S 7.0 EES 248 238 216 02| vay M
Nt 4 X & 2,808 2,376 2376 3 A M
E—<> 5.8 X 7 130 119 108 0.15 A M
F—<> BE X 2,700 2,160 1,080 45/ A L
E5EACL 3.6 BE 2,527 — 2,246 5] Va9 LL
T35 24 BRE 86 54 49 0.3
IZH5Y 4.8 BRE 1,210 648 540 3l A M
SPVAITFA 0.2 =l 4,320 - 3,780 2l B L
MrAL& 8.4 BRE 1,404 1,188 918 5/ A LL
MALE BRE 1512 918 864 5/ A M
[ES AT 64.5 JtiEE - 3,024 - 10 LL
IEhiLs T & 1,944 - 1,674 0] A 3L
=L 0.7 BRE 8,100 7,560 7,020 5/ A
AL 0.2
f=Fh&E 78.4 JtiEE 3,240 3,024 3,024 20 L4'4
f=FhE JtiEE - 864 - 10
f=Fh&E & B 3,240 2,808 2,376 201 vay L
=FhE &= B - 1,080 — 10 L
IZA(2 1.2 "5 & 2,376 - 2,268 1 B L
HELLV=T 2.1 BERE 119 — 97 0.1 Vi M
HELLV=IT =l 97 86 76 0.1 A
ZDEET 5.0 K & 32 22 22 0.1 A
LHL 15 2 [ 97 - 65 0.2
S ER T 522.3
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BMAHMAEE 5.2
INDRH DA 5.2 3,240 1,944 1,944 5/ A L
INDRH DA 4,320 3,240 2,700 5/ A M
INDRH DA 4,320 3,240 2,700 5/ A S
INDRH DA 1,620 — 1,080 5 L
INDRH DA 1,620 — 1,188 5 M
INDRH DA 2,160 — 1,188 5 S
LEY 4.9 7,020 5,940 3,996 17 140
INLUYVT 1.9 7,020 3,888 3,888 17 88
L7y 0.9 — 3,456 — 15
YATE 8.6
PErE=IY 43 = 7,560 6,696 5,940 10
5L 0.8 = 8,100 8,100 7,020 10 vay 40
HA%LE 13.1
EN 0.4 HE 216 162 140 0.5 7hva LL
2K 8.7 HE 6,480 — 5,940 10{ 7hv2 LL
—+iEe 3.9 BE 5,400 — 4,860 10{ 7hv2 40
ZTDHMEL 0.1 & 6,264 — 5616 5[ 7hva1 12
3HET 3.0
3% 2.8 G 3,564 — 2,700 5| bya 25
RO 0.1 £ 486 — 454 04| vay 3
FTHHE 0.9
ERS 0.7 486 — 432 05| vay 4
TIL—> 0.2 486 432 216 04| vay 3L
SESE 16.8
Bilg 11.1 1,642 1,080 691 120 A Wyl
EA—=x 1.7 1512 - 1,404 2| 74va 4
~N1)—A 0.3 1,642 — 1,512 1.4 A 5L
AOVEF 5.2
7—ILR 3.6 2,160 — 1,944 4l 7hva 3L
ZoMAOY 1.6
JLHE 26.9
ERAYA 24.5 — 648 — 6] A M
ELAY - 6,232 - 18] A 3L
rEFETLH 24 3,348 2,916 2,916 10 A LL
AV 13.4 5,184 2,991 2,376 15
INAFTIL 5.0 3,672 2916 2916 10 8
FoL4TILY 29 2,700 2,484 2,484 4 30
BEE 109.6




